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2 (a)Discuss the significance of employment tests. Discuss 
2 8 

(a) Define HRM and discuss its features and objectives. . 

any three types of employment tests commonly used in HRM involves all management decisions and practices (b) 

an industry. that directly affect or influence the people who work for 

1 
(b) What do you understand by placement ? Distinguish 

the organisation. Explain. 

7 
between placement and induction. 

(a) T (E) À ATY THT? FT-T7 3R Or 

(3727a) 

Or (a) The Human Resource Manager performs managerial as 

(3T2a) well as operative functions." In the light of this statement 

Define Human Resource Planning. Describe its (a 
explain the role of HR manager. 

Critically discuss the various sources of recruitment. 7 characteristics, objectives and limitations. 
(6) 

(b) "The human resource of a firm can be a source of 

competitive advantage." Explain the statement with 

examples. 

P.T.O. 
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Or 

(3727T) 

(a) Distinguish between performance appraisal and potential 

appraisal. Critically examine the MBO approach in modern 

8 organisations. 3. (a) Briefly explain the significance of training to both 

(b) Explain with an example the concept of payband employers 'and employees. Why is on-the-job training 

7 compensation system. What are its merits ? 8 method preferred over off-the-job training ? 

(6) Differentiate between sensitivity training and role- 
3HTTT HTAI } MBO 34T4 t TTAH 

playing. How is role playing useful in management 

development in the present era of globalisation and 

liberalisation ? 

4 (a) Job evaluation determines the worth of the job and not 

the job-holder. Comment. Explain any wo techniques of 

8 job-evaluation. 
? 

(6) What is the rationale behind offering financial incentives 

to employees ? How will you formulate a good incentive 

7 scheme ? 

P.T.O 
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. Briefly explain the emerging issues and challenges in HRM in 

the 21st century. 15 

Or 

(377a) 

Or 
Mr. Swami is a senior supervisor in an electric department of 

(3727aT) a company. He served the company for nearly 25 years with 

flawless career record. Unfortunately there was an accident in 

Why is it important for an organisation. to care for (a) 
the department causing death of one attendant. Management 

8 employees health ? investigated the incidence and found Mr. Swami responsible for 

accident. His services were terminated holding payment of his 

(6) What do you mean by HR audit ? Explain its objectives, 

gratuity and other benefits. Mr. Swami feels that he is unjustly 

benefits and limitations. 
treated and Union agrees with him. 

Answer the following questions on the basis of the above case 

study 

(0) Would such action on the part of management be 
(a)HTT TET ET-T À T HHE ? 

justified ? 

P.TO 
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(2) What would be your opinion and advice on this 

matter ? 
15 

3 4-À-74 25 a fatT qTs fris FTU 

(1) 

(2) 

7763 8 8400 
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. (a) What is Permanent Account Number (PAN) ? Is it mandatory for every person to obtain 

PAN ? 4 

(b) Rohit Verma, a citizen of India, is a renowned medical surgeon. He obtained his professional 

degree from All India Institute of Medical Sciences (AIIMS) Delhi in 1996 and set up 

his nursing home in Delhi in 1999. Besides practising in India he visits foreign countries 

regularly in connection with his medical profession. During the previous year 2016-17 

he was out of India for 180 days and during seven immediately preceding previous years 

he was in India for 700 days in all. 

P.T.O. 
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He reports the following income tor previous year 2016-17: 
Income from Medical Profession in India 

Rs. 12,00,000 
Income from Medical Profession in Dubai 

Rs.8,00,000 
Dividend Income from Indian Company 

Rs. 13,00,000 
Capital Gains from sale of House Property in Dubai, remitted to India Rs. 6,00,000 
Interest on Savings Account with a post office in India Rs. 13,000 

Compute Rohit's gross total income for the Assessment Year 2017-18. 1 
(37) FATt aI HEA (PAN) PI ? R Z7 fay PAN I T TAi 

4TRC fafrHi T, fkro d 1996 STT R fT 4 ATYAT.1999 

2016-17 RA T 4rA 180 fm 7 3iT 7 7f T TE R 

700 f TEI 

T a 2016-17 R 3H AT fafafaa 

12,00,000 F. 

8,00,000 . 

13,00,000 . 

6,00,000 7. 

13,000 

Or 

3727aT) 

(a) previous year always a 12 month neriod2 State any wo instances where income 

4 
Or a previous year is assessed in the previous year itsel. 
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Larmeet Kaur is a person of lndian Ongn, setlea in Canada. During the financial vear 

(b) 
2016-17 she came to visit India on >un deptember and went back to Canada on 20th March, 2017. During the previous ycar 2015-16, she visited India for 210 davs. Prior to that she visited India during previous year 2008-09 for 210 days. For the previous year 2016-17, the following was reported: 

Income from a business in India 
Rs. 12,00,000 

Interest on savings account with State Bank of India in India Rs. 35,000 
Net Agricultural Income in India 

Rs. 6,00,000 

Harmeet spent Rs. 12,000 on the medical treatment of her dependent brother whois suffering from blindness (100% loss of vision). Compute tax liability of Harmeet for the 
assessment year 2017-18 assuming she is 65 years of age. 

30 ferar 4Ta AT 3R 30 T, 2017 T TI ai 2015-16 r TA 210 R TI H 2008-09 TTT 210 f TETI T a 2016-17 fATafea frue faT 4: 
12,00,000 T 

35,000. 

6,00,000 . 

. TTI TE HIT g f aE 65 qu z Auf T 2017-18 fy 3 AAA 

2 Anshika, aged 58 years, is employed with ABC Ltd., the remuneration includes

(i). Basic Salary-Rs. 80,000 p.m. 

DearnessAllowance-10% of basic salary (forming part of Retirement Benefits) 

) House Rent allowance-Rs. 24.000 p.m. (rent paid Rs. 20,000 p.m. in Delhi) 

P.T.O. 
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v) Employer's contribution to National Pension Scheme (NPS)-Rs. 10,000 p.m. Anshika 

contributes an equal amount every month. 

()Motor car facility for official and private use. The car, 1200 ce, (cost Rs. 7,00,000). 

is owned by Employer. Running and maintenance cost of Rs. 1,10,000 p.a. is also incurred 

by employer. Anshika pays Rs. 600 p.m. to the employer for use of this facility. 

(vl) The only other income of Anshika is interest on fixed deposit-Rs. 82,000. 

(vi) She paid/deposited: 
(a) Tuition fee of Rs. 30,000 for 2 children 

(6) Rs. 40,000 in Sukanya Samriddhi Scheme 

Paid mediclaim premium of Rs. 15,000 èach for herself and husband. 

Compute Anshika's tax liability for the ASsessment Year 2017-18. 11 

3ifT1, 3 58 as, ABc fa. Ttta, uftrf4c ftfa : 

(0 T-80,000 . sf AT 

(i) HTE T-10% FTT TA ( frerye feHT ) 

(i) TEf7RTT -24,000 Uf T (f fRTAT T 20,000 . i HT) 
(iv) T TH ZT9Hi (NPS) À fre 1 TETA 10,000 . f T 3TTTT THTE 

( 
7,00,000 .) frT IITA 3R TeTGIG TTT 1,10,000 . ya T t 

(vi) 3iTE1 3 3T4 AT TI T 49-82,000. 
(vil) 3 T: 

(37) 2 7 R T 30,000 . 
() I TH TT 40,000 . 
() 37 Fi stt uf f af sifaan 15,0000 . 
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Or 

(3T9TeT) 
nieeiss the valuation rules for the furnished rent free accommodation in case of non- 

(a) 
government employees. 4 

(6) X retired on Ist October 2016 arter compieting 26 years and 9 months and received 

the following retirement benefits 

Encashment of leave salary-Rs. 4,69,200 for unvailed leave of 306 days (He was 

entitled to a leave of 35 days for each completed year of service and no entitlement 

for part of year) 

(i) (i) Gratuity under Payment of Gratuity Act 1972-Rs. 9,42,000. Before retirement 

his remuneration included: 

(1) Basic salary-Rs. 40,000 p.m. 

(2) Dearness allowance--25% of salary (60% part of retirement benefits) 

(3) Bonus-Rs. 5,000 p.m. 

(4) Commission-Rs. 3,000 p.m. 

Compute the taxable amount of retirement benefits, i.e. leave salary and 

gratuity. 7 

() x 1 T 2016 26 Td 9 HTE r farqriz/ rqfi aH fATTST 

(0 d TTTETTU4,69,200 ., 306 f 3TT fi fq (TE sfrr () 

(i) t zetn 1972376 à TAH 9,42,000 .I Fer 

(1) SA7TTR a40,0007. u HIE 

HETI T a 25% (60% èaftgfa a T f) 

(3) 7-5,000 sft 1 

74NT-3,000 ua HT 

(2) 

(4) 

P.T.O. 
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(a) Write a note on exemption available under section 10(5) in respect of leave travel 
3. 

4 
concession. 

(b) 
X owns 2 houses. First house, a commercial property was constructed on 15-10-2015 

with a loan of Rs. 10,00,000 raised on 1-4-2013 @ 12% p.a. The entire loan was 

repaid on 31-3-2016. This house was let out on a monthly rent of Rs. 25,000 from 

the beginning. On 1-6-2016 rent was raised to Rs. 28,000 p.m. The house remained 

vacant for 3 months starting from 1-1-2017 during the previous year. The other details 

of the house are: 

Municipal value Rs. 2,50,000 p.a. 

Fair Rental value Rs, 3,12,000 p.a.. 

Standard rent Rs. 3,00,000 p.a. 

Municipal taxes paid Rs. 25,000 

Repairs Rs. 39,000 

The second house is occupied by X for his own résidence. This house was purchased 
on 1-1-2012 with a loan raised from SBI Housing Finance repáyable in 240 equated 

monthly instalments [EMIs]. During the previous year 2016-17 X paid aggregate EMIs 

of Rs. 2,83,000 which included principal amount of Rs. 80,000 and remaining 

towards interest. Fair rental value of this house Rs. 3,00,000 and municipal taxes pala 

Rs. 20,000. 

A also earned long term capital gains on gold amounting to Rs. 3,00,000. Compute A s 

taxable income for AY 2017-18. 7 
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) à fgrra 3Ta arT 10(5) 

(X FTHT H J0, aos fei 15-10-2015 
f T. 10,00,000 *. 9t I4-2013 12% aATT FIZ frT 74T 
y 31-3-2016 il h 4 46 HA TTY À 25.000. yfa HTa 

aT 381 f TI 1-6-2016 Nh T6I 28,000 . ufa HTE fT TAT 
q 3 H f 1-1-2017 4 EIT EI N yT fAq 

2,50,000 . a a 

3,12,000 F. T q 

3,00,000 . f a 

25,000 T 

39,000 7.. 

ERT X ERI 379 3ATATH f 37H1 f T 7 67 ERtAT 1-1-2012 

C5 6 TR SBI FT3fHT E 240 HT aKTR HITH fhei [EMIs] 

ThfI T I 2016-17 RTa X à80,000,. T4 2,83,000. 

EMI G G, AI61 T TI H 51 3fa fai 3,00,000 T 3TT TTRYIfTI 

67 20,000 7. I 

A q7 r TstTa IY 3,00,000 T. feATI X 7-HET 2017-18 fet 

TTA 3T TUAT 6I 

P.T.O. 
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Or 

(74ar) 
X and Y are partners in a law firm and share profit equally. They maintain their accounts 

on cash basis and have prepared the following account for previous year 2016-17: 

Payments Rs. Receipts Rs. 

Rent of Office 6,00,000 Professional Receipts (16-17) 60,00,000 

Salary to staff 18,00,000 Professional Receipts (15-16) 5,00,000 

Office Expenses 4,00,000 Dividends from Indian Companies 12,00,000 

Miscellaneous Expenses 12,00,000 Proceeds from sales of land 8,00,000 

Purchase of Computers 1,00,000 

Expenses on sale of land 20,000 

Purchases of office Furniture 2,00,000 

Remuneration to X 15,00,000 

Remuneration to Y 15,00,000 

Donation to PMNRF 2,00,000 

Bank Deposits 9,80,000 

Total 85,00,000 Total 85,00,000 

Other information 
( Computers were purechased on 6-10-2016 and opening value of relevant block of plant 

and machinery was Rs. 80,000 (rate of depreciation 60%). 

(i) Furniture was purchased on 1-1-2017. No other furniture item was there in the block 

(rate of depreciation 10%). 

(iit) Remuneration to partners is paid as per deed of partnership and the firm has fulfilled 

all condition of section 184. 

(iv) Land was sold after a holding period of 21 months and its cost of acquisition was 

Rs. 9,00,000. 

Compute tax liability of partnership firm for the AY 2017-18. 11 
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q 2016-17 fy fqm I 3477 

. 3T . 

6,00,000 N sfaT (16-17) 60,00,000 

18,00,000 ar ftrr (15-16) 5,00,000 

4,00,000 12,00,000 

37 12,00,000 8,00,000 

1,00,000 

20,000 

2,00,000 

x f45 15,00,000 

Y ftfa5 15,00,000 

PMNRF G 2,00,000 

9,80,000 

85,00,000 85,00,000 

37 T 

( 6-10-2016 ger ia T4 R E R HNITTT TÍY5 T80,000 T. 
TI (fTHTqE qT 60%) I 

(i) 5-TT fAI TAT 1-1-2017, 5 57ieT Ti TI (feHTae a7 10%) 

(iv) 

P.T.O. 
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X sells his commercial property situated in Delhi on 1-6-2016 for Rs. 50,00,000. Its stamn 

duty value is Rs. 54,00,000. He spent RS. 1,00,000 in connection with the transfer of this 

Droperty. This property was acquired by him on 15-10-1979 for Rs. 2,00,000. He incurred 

Rs. 80,000 during the financial year 1980-81 and Rs. 1,00,000 during FY 2015-16 on the 

improvement of this property. Fair market value of this property on 1-4-1981 was Rs. 3,00,000. 

mp 4 

11 X utilised the net sale proceeds as follows : 

Purchased a residential house property in Delhi for Rs. 30,00,000 on 6-12017. () 
(i) Invested Rs. 10,00,000 in the bonds of National Highway Authority on 10-1-2017. 

(ii) Donated Rs. 1,00,000 to Rajiv Gandhi Foundation. 

(iv) Gifted the remaining amount to his daughter. 

Compute X's tax liability assuming he has no other income and was born on 

31-3-1957: 

FY Cost Inflation Index 

1981-82 100 

2015-16 1081 
2016-17 1125 

x 37 afyfsyes HEf f fea, 1-6-2016 50,00,000 . aT 
1 i F 54,00,000 . I 3e 1,0,000 . ft RRU fI 

H 15-10-1979 34 3I 2,00,000 TÀ Ti TATI 3H 1980-81 siR 
2015-16 RA 80,000 . 1,00,000 F. 74T: HT gR T q fH 
1-4-1981 3HM aR 3,00,000 T. TI xÀ fa54. fATeT 33TA TT 

() 6-1-2017 Ti 7 T 3TE H 30,00,000. TRTI 
(i) 10-1-2017 NTAA BIEà 37tfa aisH Å 10,00,000 . fafa fe 
(it) TT FT3UH 1,00,000 . 7H fA 

31-3-1957 4, H f TH 7, TUHT Y 
FY 

1981-82 
100 

2015-16 
1081 

2016-17 
1125 
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Or 

(374a) 
(a) What is not a capital asset ? 

(6) X Ltd. owns a block of plant and machinery consisting of three machines M1, M2 and 
M3. The following information is available in respect of this block : 

() Rate of depreciation-15% 
(i) Written down value of block on 1-4-2016-Rs. 25,00,000 (i) 

iii) A new machine M4 was.acquired for Rs. 9,00,000 on 18-4-2016 and was put 

to use on 12-12-2016: 

(v) Machine M1 was sold to a scrap dealer for Rs. 50,000 on 31-12-2016. 

() Machine M2 and M3 were sold for Rs. 18,00,000 on 10-2-2017. 

Compute amount of depreciation available for previous year 2016-17 and written down 

value of the bloçk on 1-4-2017 and capital gains/loss if any. Ignore additional 

depreciation. 7 

(a) x f. TiE 3iR 4Hi-TAT TA fTHH aa Hoi MI, M2 sHr M3 I FAHT 

( ferHTaZ -15% 

1-4-2016 atg 7 7 T 25,00,000 T1 i) 
(ii) 18-4-2016 HTA M4 9,00,000. 7 3f�aa t T 3R. EHI 

12-12-2016 3747 fA T 

(iv) 31-12-2016 5 M1 7 7a^i 50,000 T. a T I 

(v) 10-2-2017 M2, M3 18,00,000. à TI 

y q 2016-17 fAy ferHrae 4 TU-T 3R 1-4-2017 e E 

P.T.O 
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(a) Discuss the provisions regarding set off and carry 1orward of non-speculative business 

6 

5. 

loss. 

(6) Explain the provisions relating to clubbing of income of a minor child under section 

64(1A). 

? 

Or 

(37974) 

6 a)Write a brief note on deduction under section 80 GG in respect of rent paid. 

Explain the meaning of "Agriculture' on the basis of judgement delivered by supreme 

court in the case of Raja Benoy Kumar Sahas Roy. 5 

(3) TI 80 GG Hiqi ftrà y H4 gi i7 qua ifsq 

12 8.400 7764 
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1. (a) New entrant Reliance Jio disrupted Indian 
Telecom sector through its aggressive 
pricing and offering of free calls for ifetime 
to Indian customers. First it offered 

unlimited data, calls and SMS totally free 
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on all over India basis for 7 months and 
after that it introduced cheapest data 
plans with free voice calls and SMS that 
affected market leader Airtel and existing 
players like Vodafone, Idea and BSNL's 
market share and revenues badly. Airtel 
responded by offering same data plans with 
free calls to its customers to retain its 

THTR 

market share and to counter Jio onslaught. 
There are four basic strategies namely 
Stability strategy, Growth strategy, 
Retrenchment strategy and Combination 

strategy adopted by companies as per level 
of competition and market share. 

(i) Which strategy Airtel is adopting in 

current scenario and why ? 

8 
(ii) As a Marketing manager of Airtel 

which strategies you would like to 

adopt in future to remain market 

leader in Indian telecom sector? 

T T? 
(b) What is Environmental Analysis and 

Diagnosis ? Explain the main techniques 
of analyzing and diagnosing the 

environment. 7 

2 
3 P.T.O. 
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OR OR 

37T9T 

(a) What trends do you forecast in the future 

environment of business ? Describe the 

challenges and tasks these trends are 

likely to create for managers. 

Explain various types of intensive growth 
strategies, pointing out their advantages 

8 
and limitations. 

2. (a) "Management is the force which leads, 
guides and directs an organization in the 

accomplishment of predetermined 
objectives". Discuss this statement and 

(b) Michacl E. porter redefined the scope of 
competition through five forces analysis. 
Explain this framework through supportive 
example from any Indian industry/sector. 

7 

give a suitable definition of management. 

8 

3. (a) What is Matrix Organization ? In what types (b) "Contingency approach to management is 

a common sense approach". Comment. 
of organization it is suitable ? Explain its merits and demerits. 

8 7 

5 P.T.O. 
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4. Write notes on any three of the following 
5x3 (b) Write notes on following: 

(4) Horizontal Vs Vertical Integration (i) Span of management 

(ii) Recruitment Vs Selection 
(ii) Delegation Vs Decentralisation 

3 
(iii) Herzberg's two factor theory of motivation 

OR (iv) Situational leadership theory. 

OR (a) What are the causes of emergence of 

informal groups ? How should a manager 

handle these groups ? (a) Distinguishh between transactional 
leadership 
leadership. Which of them would you recommend for Indian conditions ? 

8 

and transformational 

7 
8 (b) Write notes on following 

fb raRAT I ? (i) Project Organisation Vs Matrix 

(b) What are barriers 
communication ? How can these barriers be overcome ? 

to effective 
Organisation 

7 
3 

(ii) Principles of organizing 

7 P.T.O. 6 
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5. (a) Why do employees resist control in 
organizationS HoW can management 

in 
5. 

make controls more acceptable' to 

employees ? 8 

(bWhat do you understand by the term 

"Market Value Added" ? How MVA 

technique of control is different from EVA 

technique ? 
7 

TTT" (MVA) Ti À TT T 

TT 5 MVA F5e5 bT 

R 

Write notes on any three of the following: 
5x3 

(i Return on Investment (ROI) 

MaST T (ROI) 

(ii Distinction between MIS and DSS 

(iii) Likert's Scale theory. 

(iv Distinction between Formal and Informal 
Commurcei. 

8400 
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. (a) Briefly explain the advantages and limitations of 

transacting online. 

TTTET (Online) i TY R HT aaTI 7 

(b) State the differences and similarities between Brick and 

Click and Pure Online Business modes. 

P.T.O. 

coLLEO 



a r fT% (Brick and Click) iR JE 3TATST 
@ t (Hackers) 

*T (Spoofing) 
cii) Fo (Cookies) 

iv) HbYTT(Encryption). 

8 
Or (74) 

5x3-15 (a) Briefly explain the factors which have contributed to the 

success of an e-commerce business. 

3. (a) Explain any three methods of e-payment. 

7 
(b) Compare and contrast in-house and outsource methods 

b) Explain the concept of online shopping. What are the of website designing. 
advantages and limitations of online shopping? 

HTTIET T (Shopping) aerT AATSà 8 

Or (774T) 2. (a) Explain the dimensions of ecommerce security. What 

(a) Discuss the advantages and limitations of payment is the need of e-commerce security? 
gateways. 
94- eT (Payment Gateways) TT HATB 

7 (b) Differentiate between symmetric and asymmetric 
(b) Explain the growth of online banking. What are the encryption.

limitations of online banking? 

7 

8 Or (3P90) 

4. (a) Discuss the challenges/threats faced by e-commerce. 
(a) Briefly explain any three of the following: 

) Hackers 

(b) Discuss the relevant provisions of Digital Signature and 
(i) Spoofing 

Electronic Signature covered under Information 
(ii) Cookies 

Technology Amendment Act, 2008. (iv) Encryption. 

7821 
3 

P.T.O. 

7821 
2 



IT iMTA fafT4, 2008 TTT BMEA KTT 

Or (TTT) 

(a) Briefly explain the methods used to provide security to 

the client and service provider in order to minimise the 

challenges faced by e-commerce. 

8 

(b) Briefly state the objectives of Information Technology 

Act, 2000 

IT fe, 2000 Rui 77 7yA aTgI 7 

5. Write short notes on any three: 

) Digital wallet 
(ü) Electronic fund transfer 

(ii) Tags and attributes in HTML 

(iv) Frames in HTML 

(v) Anchor/Link tags in HTML. 

(ii) HTML ad (Tags) R HTaRAT (Attributes) 

(iv) HTML aa (Frames) 

(v) HTML ara R/7 (Anchor/link tags). 3x5=15 

7821 4800 
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